= AH O
N = 0 &8 AF S & Al A
20108 =& 2 3| St AIHUSES|H AA
M St
MM GtaE Y XG2=2t2)
el GtaXMel AZRE (SIS AIUESSIH) (&)
2N -3 - c2(3H) - NEME - HES 0] At oH J &= Hl =2
St<= 1t 25,420,605 25,146,740 273,865
St L XIGh=22 6,854,617 6,693,602 161,015
SteXel ZgRE (Sl TAIH S5 H ) 1,255,100 434,000 821,100
SHI|ZAAE =H FOIXKAL (AF) 1,255,100 434,000 821,100
402 DI2HR=0| A 1,255,100 434,000 821,100
01 BIZRIEE X 1,255,100 434,000 821,100
O2as s212| stHIZAE =4 =012
A (SIHB2ED L 0123 2)
374,400,000 14! 374,400 0 374,400
OR2us 5822 sAIZAL =H =0x 2
M (sIIHE2=D L A2 al)
389,700,000 * 1A 389,700 0 389,700
OE9 ™ AMMI32] SHIIZAIE =9 =0x 2
A ($=MlIAIE D] 2 HIS0H) 57,000,000 * 14! 57,000 0 57,000
Sh=2tH AXI(GtE=SAIESESIH) 5,122,769 5,782,854 AB60,085
AMUBHEZH K24 731,883 402,880 329,003
401 Al&HIL 0] 731,883 402,880 329,003
01 Al&H] 729,003 400,000 329,003
OALHBH=2H W& (2.0km)
A= 250,000,000 250,000 150,000 100,000
OAUHBH4=2tH =4 (40.0km)
A 450,000,000 450,000 250,000 200,000
OFFHLH(XN LD~ HEW)NHE2HEHEA
29,003,000 * 14! 29,003 0 29,003
olglgl(at==1t) 4,340,886 5,129,974 789,088
801 OilHIHI 4,340,886 5,129,974 A789,088
01 oildidl 4,340,886 5,129,974 /789,088
Ol dl ZA 4,340,886,0002 4,340,886 5,129,974 789,088
SME230IE Gt4=2H HHIZA 45,000 245,000 A200,000
401 AlEHI LY 45,000 245,000 200,000
01 Al&H] 45,000 245,000 200,000
OSN3 0IS6t2 2 HEHIZ AL
ZA 45,000,000 45,000 245,000 200,000
HeEs(ota=1t) 18,161,281 18,048,431 112,850
WEHHXS (SIS AISSEE 3 A) 17,861,281 17,748,431 112,850
LHEIHeH KIS 17,861,281 17,748,431 112,850
701 JIEISIHEES2 17,561,281 17,448,431 112,850
01 JIEISIHAE2 17,561,281 17,448,431 112,850
OFAINEHELHFH HE2 17,261,281 17,148,431 112,850
DEAIZALSAY| (ot , B, A7 20
g) 2E 3,922,131,000 3,922,131 3,809,281 112,850




SN BT
HH: HH2HFY (54D
Sl J1= 2 (5t

2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2

HESHHH| (5t 404,707 404,707 0
I 23| (G ALY ESHSIH) 404,707 404,707 0
JI=2&H]| 404,707 404,707 0
405 KHAHE SH 369,796 369,796 0
01 ML ESEFSH| 369,796 369,796 0
OYHeE PC 1,300,000 *8LH 10,400 0 10,400
Oalga HAJ 280,000 *2CH 560 0 560
O=2AM T 1,000,000 »1CH 1,000 0 1,000

OXSINAAZCHE DK (GC/mass)-F &S =

A AS BAMZ2 BH(L24FH WH)

d & 198,040,000 198,040 210,000 A 11,960




